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THEE=HE
MY WE Y NBLAEH S
BPMATE ST
_ d =
SN P SA(EH) - HRAY e HlDE2
o =M KX 5,000& *1,000& 5,000
o g K 3,000& 1,000 3,000
OS2t 2ol &AM SAHA
70,000& 12«53 4,200
401 AIEHI L 2CHEI 60,000 10,000 50,000
01 A& HI 50,000 0 50,000
O o4&t 22 ota 2|2 50,000,000& 50,000
04 S AL2tE Al & HI 10,000 10,000 0
oegs #ot 10,000, 000& 10,000
EZHHEAN SH(EX) 95,750 102,990 AT,240
J| 18,230
< 15,500
Al 62,020
301 et A Z 95,750 102,990 AT,240
J| 18,230
< 15,500
Al 62,020
1MIIEELES 95,750 102,990 AT,240
OEst 228 54 & 95,750,000& 95,750
J| 18,230
= 15,500
Al 62,020
ZHEGHHA RS (22N EX £ 14,000 14,000 0
%)
X 7,000
Al 7,000
401 AIEHI L 20 14,000 14,000 0
Xl 7,000
Al 7,000
01 A& Bl 14,000 14,000 0
OZ2ZotfEX S X ¢ 14,000,000& 14,000
Xl 7,000
Al 7,000
ZZOMUMHARAF (=20 ZZSUHIE ME)(EX) 6,000 6,000 0
Xl 3,000
Al 3,000
201 ¢er24| 6,000 6,000 0
X 3,000
Al 3,000
01 At 22l 6,000 6,000 0
OBt~ 6,000
o Ct=0f 2ZtUHXIE M & 6,000
X 3,000
Al 3,000
Ol2zL 22 FHIAS(EX 20,000 20,000 0




2N
X ZH -
L= B

el

SszEEHA
MY AE Y NBAS
2ABUATE

>
0
0x

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 8,000
Al 12,000
401 Al& Bl 28I 20,000 20,000 0
< 8,000
Al 12,000
01 A& HI 20,000 20,000 0
O0ISZD 2L ZHIAY 20,000,000 20,000
= 8,000
Al 12,000
HIM HE2EX SHSMSE(BEX) 1,920,000 1,800,000 120,000
< 1,000,000
Al 920,000
201 Let24d] 250,000 150,000 100,000
< 250,000
01 At 22l 60,000 60,000 0
OE=H 22X E209HE 29
60,000,000& 60,000
= 60,000
03 &AL G I 190,000 90,000 100,000
O2Z4E Y 29 30,000,000& 30,000
< 30,000
OddDT=28 2Y 90,000,000& 90,000
= 90,000
O2ZX g4d3 2H2H 70,000,000& 70,000
< 70,000
206 T2 HI 20,000 20,000 0
< 20,000
01 =8l 20,000 20,000 0
Od&gZ=z 8 X& 20,000,000& 20,000
< 20,000
401 Al B2 2B 1,650,000 1,430,000 220,000
< 730,000
Al 920,000
01 A& HI 1,644,060 1,424,852 219,208
HEM HE22X SdAY
1,650,000,000& *99.64% 1,644,060
= 727,372
Al 916,688
03 AlE =TI 5,940 5,148 792
HISH HEZZX SEAMY
1,650,000,000& *0.36% 5,940
< 2,628
Al 3,312
NAZSLE2sEHM(ZHIEX) (X)) 31,500 30,000 1,500
307 2Iz2t0l A 31,500 30,000 1,500
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ZESEFHA
DoAY WE U NHLAEH |4
NE=H g43t A HH)
H- == e2(3H) - SN - B of & o4 San HIDZ2
NELA=H 243t 2,499,370 1,241,020 1,258,350
101 212 8| 9,350 0 9,350
04 JIZtNZ22XNSE+ 9,350 0 9,350
OIME HM=xY 9,350
o AT HE=H 85,0002 112 +10H 9,350
201 B2 197,300 90,300 107,000
01 At2 22l H 22,100 26,100 24,000
o2t =gH| 6,000
o NBEEN R=A 2,000,000& 2,000
0o EE &3 &It 4,000,000& 4,000
O=&H| 7,000
o NEH=M J&H2Y 7,000,000& 7,000
o2z 9,100
o M202 HdMANBLEN ot+=Xteg L=
650, 0003 »2CH 7L 9,100
02 5524t 4,000 4,000 0
O2Z223LMAMOIE 4,000,000& 4,000
03 #AEEHI 171,200 60,200 111,000
OEE %83 Xz 33,200,000& 33,200
OM202 ZHXEA = (SHS WU E)
,000,000&+190HEEH S 38,000
ORUAR URE SN 474 s2I1=
SH(RIFES 10,000, 000& 10,000
OBS &= & 10 30,000,000 30,000
OKBS 6AI LH 128 20,000,000& 20,000
OMy K & Travallons S& &Al2t &
20,000,000 20,000
OJTV A2 10,000,000& 10,000
OMBC s 2= 10,000, 000& 10,000
202 o4 4l 19,500 19,500 0
01 =L 9,000 9,000 0
OXNBH=N &2 4,000, 000& 4,000
=M 22 9Es 100,000& x5 10 5,000
04 = Ml =t0d 8l 10,500 10,500 0
OS2 3At S8 22N FXNLHS
1,500,000& »3H 13/ 4,500
o= 222 FA MOIZ2
1,500,000& x4 «13] 6,000
301 €EtE A= 11,500 11,500 0
09 HAMEHIESS 10,000 10,000 0
OEE %83 O/HE Al L HSES
2,000,000& 58 10,000




2N

>

SIEEEHA
Hu: pEsMe AE Y NBLAEH |4
e XNE=sH 243 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
11 JIEtE A= 1,500 1,500 0
OXNEAHAEH K2 QI2t0 BA
100,000 15X 1,500
303 ZA& 2 2,000 2,000 0
01 LAZ 2,000 2,000 0
OXNZBEHAEH R222LS ZTA 200,0008*10H 2,000
307 QI2t0| ™ 2,024,720 934,720 1,090,000
02 AI2tAAMAIE E =X 54,720 54,720 0
02018 2HXNBAEH JIS22 L dHlAd=sE
DA E 54,720,000 54,720
04 CIZ2tSHALALS B = 1,970,000 880,000 1,090,000
OH203 ZHXNEEEH K&
1,970,000,000& 1,970,000
401 AlEHIZL £ 0HY| 235,000 183,000 52,000
01 Al& b 40,000 38,000 2,000
OZIEEA O|YHEI(HEEA &)
25,000,000 25,000
O4ast4e+5= & XY 15,000,000& 15,000
03 Al&E 201 Y| 720 720 0
OXNBAHA=EM 2 =82 =4
80,000,000& *0.90% 720
04 A2 Al & HI 194,280 144,280 50,000
OFH 882 2%&s s28A &%
0,000,000 =14l 20,000
OSH=22ZBA 2 222 I 222
A X 10,000,000 » 1Al 10,000
OXNTASH 2UHH SAZAH(ESTSHALE)
5,000,000 =14l 5,000
OXNEBAHA=H B0 X & HHEL ZA
10,000,000& = 1Al 10,000
OXNEBAHA=EM 2 82 =4
80,000, 000& x99. 10% 79,280
OXNZEHA=EHE L& LANXHS EX
20,000,000& = 14! 20,000
O&0tel &xX 20,000,000 x 1Al 20,000
OYAH2IEEH O=2 & 15,000,000& 15,000
OEE ZII8EA HZ 15,000,000 15,000
SR BE Y 2FIIBAIE X4 3,752,029 4,252,315 A 500,286
= 1,374,683
Xl 71,320
J| 216,377
& 817,433
Al 1,272,216
IKAMAEE 3,752,029 4,252,315 A 500,286
= 1,374,683




N 2}EEFHA
dM: BoRL BE L F2I|IBAE =4
el BB E (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 71,320
J| 216,377
= 817,433
Al 1,272,216
23 ME A 22 283,761 218,852 64,909
101 @124 dl 28,160 21,120 7,040
04 JIZHHZ2XRHEES 28,160 21,120 7,040
OXNEEa M F=HIH M=
88,0003 «10L «8JH & «4& 28,160
201 £B-2dH| 25,212 25,212 0
01 At 22l 12,712 12,712 0
OBt~ 7,107
o st MIIetE HAx=
100,000 * 1904 2 1,900
o SEUOH 22 ABF 2 600,000 600
o M FX 2 =& AREE 7Y
1,000, 000& 1,000
o @SHMXAE MHEXZ HME 2,000,000& 2,000
o ZtM&E HAEAN 2 500,000& 500
o SEUO E=J IX= 42,2003 123 507
o0 BX23M 43I ¢ 40,000 = 1504 600
O2g+4 3,925
o Ea&E M2It H==Y  3,925,000& 3,925
O=&l 1,680,000 1,680
02 =224l 12,500 12,500 0
OZZ223ZLHA 5,500,000& 5,500
OA=H| 3,000
o SEUO 2elAb s F  3,000,000& 3,000
OAEZEHI S Xl 4,000,000& 4,000
202 Odl 3,400 3,400 0
01 = LH YI 3,400 3,400 0
OFsizel 422 3,400,000& 3,400
206 M= Hl 500 500 0
01 =8l 500 500 0
O=23M =4HEHE HN=H 2L 500,000& 500
307 21201 A 38,489 21,620 16,869
02 QIAtFAAHEX 38,489 21,620 16,869
020188 dS=3 sH2NSS fIst AS=H
8,099,000& 8,099
O=2Z3 HdESE3HE M 7,290,000 7,290
OZHsssesEd JIEAY 8,100,000& 8,100
OEZEE= AETE ALY 15,000, 000& 15,000




SN SHESEHA
dM: BoRL BE L F2I|IBAE =4
tel: BRAMBE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
401 Al& Bl & 28I 160,000 117,000 43,000
01 A& HI 160,000 117,000 43,000
OZ3 M 22 E(88I2)
2,000,000 2004 2~ 40,000
OUZS dFH =2 BEEXMe & =HEHUSA
70,000,000 70,000
O34 103 =HHHAZ 40,000,000& 40,000
O=7&u HEd WRAIEZA
10,000, 000& * 14! 10,000
402 RIZEXt20l ™ 28,000 0 28,000
01 It 2 A B (KM &) 28,000 0 28,000
OZAMew 600 2188 XI& 28,000,000 28,000
HSAE STHAAE STEX(EX) 70,166 38,780 31,386
= 35,083
< 17,542
Al 17,541
401 AIEBIZ 28I 70,166 38,780 31,386
= 35,083
= 17,542
Al 17,541
01 A& tl 70,166 38,780 31,386
O SALE S THAIAE S22 (2allAl)
7,290,000& 7,290
= 3,645
= 1,822
Al 1,823
OFSAHE STHAAE SXE2(3SAH)
10,662, 000& 10,662
= 5,331
< 2,665
Al 2,666
OHSALE BTHAIAE S B (X2AAL
,290,000& 7,290
= 3,645
< 1,823
Al 1,822
OFSAE STALAE SANE(ESAH
9,112,000& 9,112
= 4,556
< 2,278
Al 2,278
OFHSAE STMAAE SIE4(H2AH
7,290,000& 7,290
= 3,645
< 1,823
Al 1,822
OFSEAE LTHAAE SANEX(ESAH)
6,106,000 6,106




25 SHEEFHA
Hu: 2R 2E 2 2 x4
CHR: 23RBS )
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 3.053
== 1,527
Al 1,526
OHEMNE SAUEH(HY)
6,196,000& 6,196
= 3,008
== 1,549
Al 1,549
O EANE SAEX=(22AH)
6,652,000 6,652
= 3,326
& 1,663
Al 1,663
OFEMNE RAUEH(H22)
9,568,000& 9,568
- 4,784
& 2,392
Al 2,392
INEHSEM 2 S228 T 2230 N (2X) 1,558,000 1,629,000 AT71,000
= 1,068,600
[ 244,700
Al 244,700
401 AlEHI 2L 2 0HY| 933,000 226,000 707,000
= 653,100
= 139,950
Al 139,950
01 Al&H] 927,960 224,416 703,544
OLT SUMSEHE HHABLZM
125,000, 000& 125,000
= 87,500
== 18,750
Al 18,750
OZHz 2 AEEHSED S22 A
800,000, 000& *99.37% 794,960
= 556,472
& 119,244
Al 119,244
O2ZH &= “EIL XNE2=+ 5,000,000& 5,000
= 3,500
o= 750
Al 750
O2ZH EEe SHEUR g8
3,000,000& 3,000
= 2,100
< 450
Al 450
03 Al 201 | 5,040 1,584 3,456
O M2 20t2AsFW AMNHESEHD 2AZ2 A
800,000,000& *0.63% 5,040
= 3,528
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A S}EESHE
dM: BoRL BE L F2I|IBAE =4
te: BIARMESE (chel & 9l)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 756
Al 756
402 QI2H X201 A 625,000 1,403,000 A 778,000
= 415,500
< 104,750
Al 104,750
02 QI EAILEZ (01X THE) 625,000 1,403,000 AT778,000
OLH HEAN STUSLLHY FHEHIZ A
SE GE) 570,000,000& 570,000
= 399,000
< 85,500
Al 85,500
O2ZH SLA DISEX =HIHSAH(EEHE2
HANE A58 4) 55,000,000& 55,000
- 16,500
< 19,250
Al 19,250
SN} MES=TH(BX) 633,434 548,367 85,067
= 318,434
Al 315,000
401 Al& Bl 28I 608,434 522,367 86,067
< 305,934
Al 302,500
01 A& HI 604,624 518,723 85,901
OLNED HEM B4 U ZHFHIZM
101,000, 000& *99.37% 100,364
< 50,182
Al 50,182
OZUANAT QHISY FHEHISA
115,000,000& *99.37% 114,276
= 57,138
Al 57,138
OALUA ST AXHIAEL FHEHISA
40,000, 000& %99.37% 39,748
< 19,874
Al 19,874
OO0 LY MI E=ZA
60,000,000& *99.37% 59,622
< 29,811
Al 29,811
OZ At B LIS =HFHI S A
74,000,000& %99.37% 73,534
< 36,767
Al 36,767
OFEBTLAH FEHIH A
30,000,000& *99.37% 29,811
< 14,905
Al 14,906
OGS0 D &I FH| S A
30,000,000& *99.37% 29,811
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25 SHEEFHA
M 23R4 BE U 23IBAL X4
CHR: 23RBS (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 14,905
Al 14,906
OXSIAF = HHIZ2AH 90,000, 000& *99.37% 89,433
= 44,716
Al 44717
O =JISs EHIZ2AH 40,000, 000& *99.37% 39,748
= 19,874
Al 19,874
OHANE Ul 2 A 25,000, 000& *99.37% 24,843
= 12,423
Al 12,420
OS5 U-tE 22|AlAE S22
3,434,000 3,434
o= 3,434
03 A& E2HH]| 3,810 3,644 166
OLHED HEH B4 L FHFUIZAM
101,000,000 *0.63% 637
o= 318
Al 319
OXAMAY QEHAFH F=HAEH S A
115,000,000 *0.63% 725
o= 362
Al 363
OFLA SHT ATHINEN FHEYIT A
40,000,000 *0.63% 252
o= 126
Al 126
OOAFHN M B2BA
60,000, 000& *0.63% 378
o= 189
Al 189
OLHAAH LI F=HEHHIZ2AH
74,000,000 *0.63% 467
= 233
Al 234
OB UAH F=EHAEH ZA
30,000, 000& *0.63% 189
& 94
Al 95
OGHE0| I MMIL HH|I S At
30,000, 000& *x0.63% 189
& 94
Al 95
O&SLSFF HHISAH 90,000,000 *x0.63% 567
= 283
Al 284
O2E=IIs HHIZ2AH 40,000, 000& *0.63% 252
& 126
Al 126
OBEAMNHE U S A 154,000 154
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2N SEEEHA
Hu: 2R BE QL SHIIBAIL X4
CHR: 23RBS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 80
Al 74
402 SI2FXHE0| M 15,000 26,000 A 11,000
== 7,500
Al 7,500
02 SIZEXIEAISEX (0| XM THL) 15,000 26,000 A 11,000
ORI -DYE SINEET] 15,000,000 15,000
< 7,500
Al 7,500
405 XHoHFE S HI 10,000 0 10,000
= 5,000
Al 5,000
01 XA 2B F S| 10,000 0 10,000
O2sM2Aes8 a1 10,000,000& 10,000
& 5,000
Al 5,000
EXNE LS H4SSXA(RX) 110,400 100,800 9,600
= 44,160
Al 66,240
301 et A= 110,400 100,800 9,600
o 44,160
Al 66,240
11 JIEtE A= 110,400 100,800 9,600
OCXAE RS2 814
93,600,000 93,600
== 37,440
Al 56,160
OEXE RS 4 &&=
16,800,000 16,800
== 6,720
Al 10,080
XA P25 2 AH (EX) 15,900 15,900 0
= 6,360
Al 9,540
301 et A= 15,900 15,900 0
o= 6,360
Al 9,540
11 JIEtE A= 15,900 15,900 0
OZXAE SRE2SHMH 2 AFHl 15,900,000 15,900
= 6,360
Al 9,540
SFpNAEsty 2Y(EX) 26,124 26,124 0
& 10,449
Al 15,675
307 2iz2to| & 26,124 26,124 0
& 10,449
Al 15,675
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2N
X ZH -
L= B

el

M0 MO MO

for o ton
30 40 Ofon
iz H
HT
i
Ho
HO
ton
AS|
e
=
x

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 26,124 26,124 0
O20188 & SWUARSFNS2AX S ALY
26,124,000 26,124
& 10,449
Al 15,675
S5 OHEAFHI Y HIX L E2(2X) 222,754 294,052 NT1,298
J| 111,377
== 33,413
Al 77,964
101 Q124 H| 217,954 289,252 NT1,298
J| 108,977
& 32,693
Al 76,284
04 JI2ZtHIZ22NEES 217,954 289,252 ANT1,298
OZSREX2M & AY QIAHBI(SAAF DIS
S OHEHE HAA (HEZH) 217,954,000 217,954
J| 108,977
= 32,693
Al 76,284
201 Bt 4,800 4,800 0
J| 2,400
o= 720
Al 1,680
01 AP 22| H| 4,800 4,800 0
O23 M ot&AHI A HIX & &=
4,800,000& 4,800
J| 2,400
& 720
Al 1,680
S5 MHUHEIAIE E(EX) 100,000 296,000 A 196,000
J| 70,000
& 9,000
Al 21,000
401 AlEHIZL 2 0HY| 100,000 166,000 A 66,000
J| 70,000
& 9,000
Al 21,000
01 Al&H| 100,000 166,000 A 66,000
OZ M E2H HEEH MA 100,000,000 100,000
J| 70,000
=} 9,000
Al 21,000
SIFAMBE(EX) 33,000 31,000 2,000
= 14,675
Al 18,325
101 2121 4| 16,000 0 16,000
& 8,000
Al 8,000
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N 2}EEFHA
M 23R4 BE U 23IBAL X4
te: BIARMESE CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 16,000 0 16,000
O=SR2 s Sgaeler 29 16,000,000& 16,000
= 8,000
Al 8,000
301 et a =z 12,000 12,000 0
< 4,800
Al 7,200
MIEE4d3 12,000 12,000 0
ONZIL 2= Hastn NF2SY
12,000, 000& 12,000
< 4,800
Al 7,200
307 21201 A 5,000 19,000 214,000
< 1,875
Al 3,125
02 LAFAAHEX 5,000 19,000 A 14,000
020188 =2 23 ALY 5,000,000& 5,000
= 1,875
Al 3,125
g5 A 29 8,840 16,840 A 8,000
201 £B-2dH| 8,840 16,840 A 8,000
01 At 22l 5,840 5,840 0
O2et=ZH| 5,840
o dAIZ 2E & HISFHY 3,000,000 3,000
o EE2 M= 2,000,000& 2,000
o =&l 840,000& 840
02 =24l 3,000 3,000 0
O=323LHA 3,000
0 8= |FSMAZ 332%Hl 3,000,000 3,000
g NME 23 28 ME(EI)(EX) 50,000 42,600 7,400
= 25,000
< 7,500
Al 17,500
307 21201 A 50,000 42,600 7,400
= 25,000
< 7,500
Al 17,500
02 QB AAFEX 50,000 42,600 7,400
O2018EE SWAMI S BEAY
50,000,000& 50,000
= 25,000
= 7,500
Al 17,500
MM M (EZ)(BEX) 42,500 50,000 A7,500
= 17,000
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2N
X ZH -
L= B

el

SsE2EHA
SR BE L 2EHIIBAL £
SRaRE

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 7,650
Al 17,850
307 glz2tol & 42,500 50,000 AT,500
= 17,000
< 7,650
Al 17,850
02 IZtE M AHE X 42,500 50,000 AT,500
020188 & MU At 42,500,000 42,500
= 17,000
< 7,650
Al 17,850
HELMMEBSTH HEMS(EZ)(EX) 122,000 86,000 36,000
= 61,000
< 18,300
Al 42,700
307 21201 A 122,000 86,000 36,000
= 61,000
< 18,300
Al 42,700
02 UAFLAFEX 122,000 86,000 36,000
02018 @S 4&AL 23T EE ALY
122,000, 000& 122,000
= 61,000
< 18,300
Al 42,700
NAgH=sMatA AHEH(ER) 89,150 270,000 A 180,850
Xl 71,320
< 5,350
Al 12,480
307 21201 A 89,150 90,000 A 850
Xl 71,320
< 5,350
Al 12,480
02 IAFAAFEX 89,150 90,000 A 850
O2018E T & & 2HGAN DWSHE LA
e 89,150,000 89,150
Xl 71,320
= 5,350
Al 12,480
3 LHAIE 22l KNI (BxX) 50,000 0 50,000
J| 35,000
< 4,500
Al 10,500
401 AIEHI L 2 CHYI 50,000 0 50,000
J| 35,000
< 4,500
Al 10,500
01 A& HI 50,000 0 50,000
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A S}EESHE
dM: BoRL BE L F2I|IBAE =4
te: BIARMESE CEE-ED
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
O23 M ZMHAIE |22l XS A( ol
SH UZE, AMANURZH 2 :
=R el 50,000
| 35,000
< 4,500
Al 10,500
HSAE ETHAIAE 25 250,000 0 250,000
= 125,000
< 62,500
Al 62,500
402 RIZ2FXt20l ™ 250,000 0 250,000
= 125,000
< 62,500
Al 62,500
02 2IZt 2 AL EZ (OIS ) 250,000 0 250,000
OFSME STHAIAEY PE(R2
14,000,000& 114,000
= 57,000
< 28,500
Al 28,500
O SAHE 2 THAl = (a8
,000,000& 136,000
= 68,000
< 34,000
Al 34,000
ZH *Esdd2 S5 2 SAH(E 86,000 0 86,000
= 43,000
< 12,900
Al 30,100
401 Al BIZ 2018 86,000 0 86,000
= 43,000
< 12,900
Al 30,100
01 A& HI 86,000 0 86,000
SEsq2d SESA 86,000,000& 86,000
= 43,000
= 12,900
Al 30,100
HHR2HZH (2SFEEEH 36,420 34,200 2,220
dHl (222504 36,420 34,200 2,220
24U (2SEEEH 36,420 34,200 2,220
202 4Hl 31,200 30,000 1,200
01 = LH YI 31,200 30,000 1,200
OZE&Z NI 100,000& x26H «12& 31,200
203 PR =&l 5,220 4,200 1,020
04 EN2ISRF 5,220 4,200 1,020
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